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1. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2
(C) -2 (D) -4
1. (PG GF MY 9T o[ FRGICOR ol @ [l Ffca 279 G2 Ao Il IR |
SR
(A) 4 (B) 2
(C) -2 (D) -4

1. 93 2we 7R foq @9 5iiog qof (e Ko o1 = “Rem Ref o )R e

TR | ARG 291
(A) 4 (B) 2
(€) -2 (D) -4
1. it 778 AR SiHeE o aesememE! ame . e 6 9 sFvmEE S fon
ST
(A) 4 (B) 2
(€) -2 RN\
1. v et den &1 9 T 3@ e & ot @ "er fen s @, 9@ ufom ) @ 2dt ) 9w
T ?
(A) 4 (B) 2
(C) -2 (D) -4

2. In Roman numeral, XCI represents the decimal number
(A) 41 B) 21
(C) 91 (D) 111

2. @NF Y XCI @ el ™IS ARG (202
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK
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2. @ W47 XCI 7 fofes 11 wifis 7amfb 25
(A) 41 (B) 21
(C) 91 (D) 111

2. WM g@eAE XCI T gniftes sHfsmmrn s

(A) 41 (B) 21

(C) 91 (D) 111
2. UHA 3R § XCI 58 avmera g 1 gfdfies i 2, 98 &

(A) 41 (B) 21
(C) 91 (D) 111

3. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m
(C) 11 m (D) 12 m

3. 13 . trefiq &<eTl qule Terx (I Q9O (R 1 SCR O T €7 ol 5 . Twere
IR | (AR AR S G OoTq I A6 S F 799 (20

A) 9 . (B) 5.
(C) 11 f. (D) 12 f.
3. 13 fi. o @ T2 @3 Tor (SR AN @IS (20 W @ OF TR A% 5 .
THO TFS | (TG AW <R SRCH O AT T AR 73g 2
A) 9 fi. (B) 5 M.
(C) 11 . (D) 12 f.

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-B 7 [ P.T.O.



3. 13 4. e S TeE! AT STEmE st 5 . Siemsare 9FR g9 S9el | S Tar—smE

TES Sty Merfify Tfefm e 9
(A) 9 . (B) 5 f.
(C) 11 fa. (D) 12 fa.

3. 13 o T TF €I Tk HeAieR AR T gehl T3 7, (8l S0 [ 5 o & 98 W g1 daK
& freet R ot gt & freet R & e & afosr g 2

(A) 9 Hio (B) 5 Hio
(C) 11 Hro (D) 12 #o

4. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 (B) -1

C) 2 (D) 3
4, 2,-1,3,1,-2,5, 6 RIIFICGR T (22

A) 1 (Bh\L

(C) 2 (D) 3

4. R Iq&y 2, -1, 3, 1, -2, 5, 6 -9F JT 297

(A) 1 (B) -1

€ 2 (D) 3
4, sAGM®IR 2, - 1, 3, 1, =2, 5, 67 Torwmn

(A) 1 (B) -1

©) 2 (D) 3

4., TN h IAgFEA 2, — 1, 3, 1, -2, 5, 6 H HLTH ©
(A) 1 B) -1
(C) 2 (D) 3

SPACE FOR ROUGH WORK
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5. A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m
(C) 122 m (D) 144 m

5. q&a YRR 9T e {9 Y91 ey 7 [N 799 iR A 9F [ ceaes oife 9 | g
GEWCA SIS TR (€ 77 AR AN TS T7Ao BACol | G2 TRICFAS (T oG 91 TG

ST AW (20T
(a) 22 f. (B) 44 fx.
(C) 122 f. (D) 144 f3.

5. g e G G 72 4 oA @ ¢ = @i [FE 7@ 7 [ yme q@ww Ay |
%9l Bl 71 O ORI O e f[pee e | @@ TG (el ety wfede 4

RIS 79 25

(A) 22 . (B) 44 fil.
(C) 122 fi. (D) 144 f3.

5. 9™ WHGAT 9 A REEG AEE el S o 7Y SgHEE Sieaet 7 [, TsEe o9
T GH AEEAEE IFE R e ARSI SR 6| § AEET ST 99 TS

TSI ?
(a) 22 . (B) 44 fi.
(C) 122 fu. (D) 144 fa.

5. T Afth UF U9 T 5H THR Fadl ¢ T 98 g 10w forg @ goen 7 o g w@ar 81 $© X o
% 916 98 QA 3O TR forg W Ige San §1 39 W6 % QR At g a9 ohl TR STgETa

e
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

SPACE FOR ROUGH WORK
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6. A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

6. 1 97 i, SO« T GOIF 7[1 1 94 (5. . SR g 7P T AN 6 Sferea 2 |
21 I T R (2R
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

6. 1 ¥ . RO G5 T FEF AN AP FUed 1 997 O1. [, SR T#d [oe
9 | A1 FY TG TR 25

(A) 10000 (B) 100000
(C) 1000 (D) 1000000
6. 1 o9 . T M1 T TR E 1 o 9. i QS SeE e s e grtsar, died
TraTfem oes TERTH?
(A) 10000 (B) 100000
(C) 1000 (D) 1000000
6. 1 o7 Hio 3G 9Tt ek o %1 1 99 Fo Hio RIAH dTct BIS T H THH ®I ¥ H1eT FIaT €| IIT
T B 4] o T 2
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

7. The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

7. 6, 8 TF 12 (T 0P RS [AOE T[oToq 4o TS FRIYCE B
A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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. TP LN AR T G M 6, 8 @) 12 @l e, Gib 29

(A) 24 (B) 18

(C) 48 (D) 36

. TGS GARH IEEAE T AN @ 6, 8 AR 12 S TASEN, ST el
(A) 24 (B) 18

(C) 48 (D) 36

. TEE BT GATCH qUTish, ST Tk W19 6, 8 3TN 12 ¥ fawrsa 1, B
(A) 24 (B) 18
(C) 48 (D) 36

. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

(A) 1 (B) 2
€ 3 (D) 4

. 3-SPYS GRS T JA T FRE] O 2-SFS AT I FOID TR (146 (202
(A) 1 (B) 2
(C) 3 (D) 4

. 3-9CFT FUON FOITF I R 98 2-WCF J2&H FOIF I TR ¢y AL 23

(A) 1 (B) 2

(C) 3 (D) 4

. GARE 3-wRfmEE i s smim o) wfE 2-amtsmrEn i as'w swim Tsa
oI BT

(A) 1 (B) 2

(C) 3 (D) 4

SPACE FOR ROUGH WORK
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8. 3 37ehi %l HaH B! TR TH TEAT 3R 2 3o hl Hod ! TThfdeh TH T o o<l AR @
A) 1 (B) 2
(€) 3 (D) 4

9. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease

(C) 32% decrease (D) No change

9. (I @Bl TRYIF A 40% I F91 27 T O] Pwe 40% 2P F90 276 | *oR 2/R[1re
RS NG R URISECE RETe)

(A) 16% I (B) 16% 3P
(C) 32% 2™ (D) S7ifEafee

9. ¢ MANTF 40% I& T T IR “FAGICS 40% ZPT 41 27 | *ORF Fifdey wwanfoq @

“[feée =e
(A) 16% I (B) 16% 3™
(C) 32% z™ (D) SIfz_fEe
9. s&aT A fsEmE! f 40% STER™ S A 396 40% GHEA™ ST | Srar<ereTe o fsamt
3T HIAEHTT ST&H
(A) 16% et (B) 16% @H &l
(C) 32% @H &t (D) S G

9. Tk T H 40% i gfg &l TE 3R 34k 918 40% =1 & 5 | T § IE qRadq Ifowrd @
(A) 16% i gfg (B) 16% @t =Ht
(C) 32% ot FHHt (D) @IE e =L

SPACE FOR ROUGH WORK
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10.

10.

10.

10.

10.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

M A, B S C T 91T RPT 22 727 IF B F C T T RPT 25 729, (908 Gfoqq 2[l 9 I27q
foge A T 27

(A) 25 3= (B) 35 3=

(C) 50 9= (D) 45 9=

M A, B 8 C-&3 5% T 22 I=F @R B € C-9F 9T T 25 77 T, O@ 94 (AF 9 I=F
7 A-93 TP IO 3, W T |

(A) 25 = (B) 35 3%

(C) 50 = (D) 45 3IF

Sfc A, B 3R T 7T sEien 22 9ER A” B AR ¢ T SMie 25 dERse, 9 bR e
AT g s S

(A) 25 =ER (B) 35 sER

(C) 50 =ERr (D) 45 =ERr

I A, B 3R C il 3f|d 311 22 a9 991 B R C 1 30wd g 25 99 2, d 379 ¥ 9 91 918
A &l I J1d A

(A) 25 Td (B) 35 a4

(C) 50 = (D) 45 =d

11.

The smallest among \[I, \F, \F and \F is
2°\V3 4 3
1 1
0 o
1 2
© Vs ® 3

SPACE FOR ROUGH WORK
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1

[y

. \g \E, \EW\EEWWWWW
(A) \E (B) \E
(©) \/Z (D) \E
11. \g \E ﬁm&ﬁ—awmwﬂwﬁ“@
(A) \g (B) \E
(©) \E (D) \E
11. \E \E ﬁmﬁﬁﬁmww
(A) \E (B) \E
(©) \E (D) \E
1111 L e 2w
(A) \E (B) \g
© \E (D) \E

SPACE FOR ROUGH WORK
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12. Iffzgzg, thenwis equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
12. ﬁ%:%:?,m@“g”amﬂi’a
(A) 2 (B) 3
(C) 4 (D) 5
12. zﬁﬁ%:%:%m“i’”—mm
(A) 2 (B) 3
(C) 4 (D) 5
12. IR X =Y 2 s X1YTZ o1 g wmim
3 4 7 z
A) 2 (B) 3
(C) 4 (D) 5
12. g XY _Z G XYY i qum g
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
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13.

13.

13.

13.

13.

Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20
(C) 22 (D) 24

71 AR 2 1 3 SIS B W Bieed ol ALT, W #1309, 9w 96. IR GBI (9T

A) 18 (B) 20
) 22 (D) 24

(% TR TS 2 ¢ 3 G O AT Q. &R F.B.-F BORFeT 96. I B CI5TFa] 25

(A) 18 (B) 20

(C) 22 (D) 24

A4 foom Sgs@mEn 2 3 A oERM e R gL H amseTEe 96. o famm
HFA SRS STE

(A) 18 (B) 20

(C) 22 (D). 24

T T 2 : 3 U H I I HedW THIYAS R TIqH THUE H UAEA 96 T qMl
TS 1 A 2

(A) 18 (B) 20

(C) 22 (D) 24

14.

14.

The value of V82 is

A) 1 B) 3
C) 2 (D) 4
¥s2 2]

A) 1 (B) 3
(C) 2 (D) 4

SPACE FOR ROUGH WORK
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14. J82%-qq M
(A) 1 B) 3
(©) 2 (D) 4
14. 382 f mm
A) 1 B) 3
©) 2 (D) 4
14. {82 F1 WM 2
(A) 1 B) 3
©) 2 (D) 4
15. A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is
(A) ¥55 B) 0
(C) ¥270 (D) ¥45
15. (Pl @ IR 2dfedie o R[fcs Ffee a2 wwe @3 g ged AfREeE =010, 58

15.

2fSRIMCOIcT AT & 799 2'csi2 €120 FIf TM0d | G W2 92 dfovie & 105 e
FE E (el S [l 10 26 3 2o bels T | 3 W2q WO ARSI Yo SR

(A) T55 (B) ¥0
(C) ¥270 (D) T45
G5 e “fgme 912 @6 =T 2feviea RS T @F e[ e Bed 3w a7 8 ofe

fGegga €120 (I (ST || GFE qfe € 105 [ @ @3 @i wfefie A7
RfScer <1 Scg 3 W @Y (@ 1 3 IO (G O (G SR 3¢

(A) T35 (B) ¥0
(C) T270 (D) 45

SPACE FOR ROUGH WORK
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15. T AN FHAFE T IHYAR THE oA o TST BFA SIET| TG™ B STIh e
HHAAT € 120 G IE A4 ARG | 98 GIST & BIA FHAEE & 105 SH IHT A/ SHall 3
T B o o W@t g 3 @nfaar| g 3T e faerify g s sme
(A) T35 (B) ¥0O
(C) ¥270 (D) ¥45
15. T% %H § faw & 7€ ww ffya iy v wE % o 0 I @ ST, dfe saH g S W
¢ 120 &I Al #1e off It B uk e 3@ wH § F 105 1 Hew Far g i fomn ot erfaten
Tfer = fraw forg 3 A a S WAt 21 3 HEH % 31d H 36eh! 34 3T B
(A) 55 (B) ¥0O
(C) ¥270 (D) ¥45
16. The count of prime numbers between 80 and 100 is
(A) 2 B) 5
(€) 3 (D) 4
16. 80 SF 100 T WE® SAFS (Tferd 7R (36! 2
(A) 2 (B) 5
©) 3 (D) 4
16. 80 @R 100-9F T TS (e 74N FAM ?
(A) 2 (B) 5
©) 3 (D) 4
16. 80 R 100 A TSRE AHe# UaT AR &7
(A) 2 (B) 5
€ 3 (D) 4
16. 80 2R 100 & s 19T=g GEAtett it fidt 2
(A) 2 B) S
(C) 3 (D) 4

SPACE FOR ROUGH WORK
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17.

17.

17.

17.

17.

Find the value of [(107 +102)+ (103 +107%)]=10°.
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10° T N+ (7 59 |

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (10° + 1072)]+ 10°-9g 1= feiefy et |
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +10%)+ (10° = 1072)]= 10° f1 wH fag)

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102%)+ (10° +1072)]+ 10° =l M 1 =Hifs)

(A) 100 (B) 200
(C) 2 (D) 1

18.

18.

18.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
M A : B =3, (93 144A : 36B I T« 23

A) 4 (B) 12
(C€) 3 (D) 16
M A : B =3, 94 144A : 36B-3 T 2

A) 4 (B) 12
(€) 3 (D) 16

SPACE FOR ROUGH WORK
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18. Jf¢ A : B =3, 3%l 144A : 36B T wrn
(A) 4 (B) 12
(C) 3 (D) 16
18. I A : B=3, dl 144A : 36B &l AH 8
A) 4 (B) 12
(C) 3 (D) 16

19. The fraction equivalent of the recurring number 2-19 is

271 217
A) oo B) oo
99 99
219 291
©) on D) on
90 90

19. (7ees[fas R0 219 I FgeT SN (2R

271 Q17
A) —o (Bingo*
99 99
219 291
©) on D) 54
90 90

19. g€ A 219 -4 FAGeT B21<¥] Be

271 217
A) oo B) oo
99 99
219 291
©) on D) 5
90 90

19. 2.19 SEARUTS AT SHNSHT T S @il 7l

271 217
A) oo B) oo
99 99
219 291
©) on D) on
90 90

SPACE FOR ROUGH WORK
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19. 37adl w219 w1 guged fim gm

(A)

©)

271 217
ol (B) =—
99 99
219 291
=7 (D) ==
90 90

20.

20.

20.

20.

20.

The largest of 26, 35, 4% and 5% is

(A)

(€
26
(A)
(®)
26,
(A)
(®)

26

(A)

©)

(A)
©)

26 (B) 3°

44 (D) 53

35, 4% 9 53 FAACHIHE T WIS ALAICH! 2]
26 (B) 3%
44 (D) 53
3%, 4% @R 53-9q Wy JTEAH 29

44 (D) 53
3%, 4% 3 53 3 o Wi

26 (B) 3°
44 (D) 53
35, 4% 3 53§ ga@ w2 B

26 (B) 3°

44 (D) 53

SPACE FOR ROUGH WORK

SLRC—2024/P-111/ 1-B 21

[ P.T.O.



21.

21.

21.

21.

21.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) Tn (B) 14n

(C) 21n (D) 28n

GG B AR (RS (74l VT @ (S (TS qol Tl A NHCA BRI
SABFICOIE T2 3“1 T | A DR b P 70 6. . =W, (98 *lewer| 1060
9l PSSR R 2 (RB qe) wfowy Ffee 2

(A) 7m (B) 14n
(C) 21In (D) 28n

~

GF AT AEIRE (Fq ¥ AW @ g6 ABICee Aol 7ge AMBCpeEr AN HE fein
I

RG] Ao = | AW ARCICE B I 70 G WL =, ©@ 1016 A=<l wliicece ARt
o 91 g ([Worea) 2=

(A) 7m (B) 14n

(C) 21n (D) 28

T ATEehal AT Jamte, fo deerat @q 2 |R fhfesen, famf amamen w= 3 arfifest| g
HEehal A w@Er 70 9. 1. SN, Steen Ueordl WH 10 UR fhfesan, @gehen 9@ MWH
(foewe) wrRaArTH?

(A) 7m (B) 14n
(C) 21n (D) 28n

T TTEfhd TER % fau 7' <@ e R g @ qof Sefer % fore wmfeRa w1 swren ufean 3 ot
TS ST § | AfE FiEfohet o dfed w1 s 70 Ho Hio 7, @1 10 of Uefom # wwfera g0 @@ A
T g (He H) §

(A) 7 (B) 14n
(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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22.

22.

22.

22.

22.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm

(C) 4 sq. cm (D) 442 sq. cm

9Bl IR fage PN SIE TwoR el A WIF PORcs %9 vl 242 (6. . | Uges
AT

(A) 2 3 ¢o. fi. (B) 2+/2 3of (5. fir.

(C) 4 3sf ¢v. f. (D) 442 39 (5. 3.

GBI fagres o € Twor #Ifel A @9 PeR A2 oy 242 G1. . | fagsioy
CPazret =2e]

A) 2 3o 1. . (B) 2+/2 3of @1, .

(C) 4 3of 1. . (D) 442 3of 1. fin.

T WAy e gYmE g I St Marer we o fafa 319 stmnfuft ek
242 @, fir. | 9 smEnfSremfy wifern

(A) 2=t @, . (B) 2+2 =t @, fa.

(C) 4 =t @ fa. (D) 4+/2 =i 4. fi.

Tk THAI P T MR TR 3T Farg iAmr H e @ SR e S s e 242 Fo o
31 Bt =1 & @

(A) 2 =t Fo o (B) 2+/2 &t Fo o

(C) 4 = Wo o (D) 4+/2 =t Fo o

23.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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23.

23.

23.

23.

19 7@ S8 I G RYA (A bl 2IRPRS BJe A& FFCEAER I0 TR Sreqie
2% | S RIS A2 761 A R 91 2% | G2 71 A 2 0T (R

(A) 35 (B) 42

(C) 49 (D) 56

1 W@ e 26q TR AISER I (A0 MG (&I AL AR el 290 | SRABSR (AT
212 7{6 121 Reave 1 27 | G2 7M6 MU FI9Ree 23

(A) 35 (B) 42

(C) 49 (D) 56

1 S RS I SHANET AREEE T S SHSHTRRE! SENAE S | AT b RS
Tty 99 7 ARG 9 TR S WF 7 SFSETERN ST SeE

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y& B et AR gt i geen #, ot on gend ger f St ¥ 9w 6 ¥ yew
7 et W o fifsw) 573 7 dwenett o A 2

(A) 35 (B) 42

(C) 49 (D) 56

24.

24.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4(A-B)
(©) Af (D) 4AB

WOl R4 A ¥ B @9Fes 39 F© C (o[ 99 | {881 B7fe A 7[ B [l ¥ 3sf
IS D (MR A | C-DF A SF BS 2 FCe AFRIMCH 2]

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

SPACE FOR ROUGH WORK
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24

24.

24.

7 SR A € B (F AU @l 91 W GR 95 T¢I C A I/ | AF! 41 A (A B [l
1 27 G FEIe qof PACel D /NS AR | A € B-«G3 AR AR C — D (F 2™ FCe 31

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

A I B IERWME IEEAH - FE & g n ¢ Anam | 3 H wifeE B @ A fwm
aW@ A ol A & feg= D 9| C - D@ A TR B fo@ema wRArrsa

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB

C UTH %3 & foTU uget 3 G&A1sT A 3T B bl SISl Sl @ qT 39eh1 1 TohaT ST 2| 37Tl =R/0
A, AW ¥ B & 921 ST @ 3R D W 1 & fow 39 aftory =1 ot foean Strar @1 9o ¢ - D
Fl A X B % ®9 H It i TN

(A) AA+B) (B) 4(A-B)
©) A4B (D) 4AB

25.

25.

25.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3

(€) 5 (D) 2

Jerew B AT 1250 7[99 BEce Qb1 7j<fqaf FR2y ¢l AR 2

(A) 4 (B) 3

(©) 5 (D) 2

T FR AR @R 1250 (@ @39 FAce Ao 99 A AN AW GAfp el v |
(A) 4 (B) 3

(©) 5 (D) 2

SPACE FOR ROUGH WORK
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25. 1250 @ 37g 9 GIAHATS S GG SAISHISH AT |
(A) 4 (B) 3
€ 5 (D) 2
25. 98 =JJaH G 1 hitse, e 1250 & U gt it s o fore 1o foren s =nfeu |
(A) 4 (B) 3
(€ S (D) 2
26. When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is
4 2
S 3
© -, D)
26. <5 TURE TP 4 (T IF 29 9 (F 779 Face SARACGE 2ARSCA oIl IR | SR (2=
4 2
(A) 5 (B) 3
S 3
(€) ” (D) 2
26. 3 TARCE FACF 4 AR GR T 9 7l @ I 2¢a B2 TEH AW | waG 7
4 2
(A) 5 (B) 3
S 3
(C) 7 (D) 5
26. SsAl AN SEEER BHE! 4 S GFSTel ST Sedl 9 S, o siEerare 3o fifest| o

TG

(A) (B)

NSNS IS NN
N|Ww WIN

(€) (D)

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-B 26



26.

v foRelt firet & o791 1 4 @ IR = R 9 ¥ TN FoRa S B, A fw S s @) e i ®

(A) (B)

(€) (D)

ENSNS; NS NN
Nw W

27.

27.

27.

27.

27.

At what percentage of simple interest does an amount of money double in 12 years?

A) 919 (B) 81%
2 2
Q) 8l D) 919
(€) (D)
3 3

E @S (HICA! ToNe 12 T2q9 T 139 2331 9] 7[eq 2 FA =77 M 2

&) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

o1 T T oI 2T e 12 T=eq @B 27 2

10 lo

(A) 9§A> (B) 82/0
1, 1,

(€) 85/0 (D) 93/0

Y EIE! AR 58 g1 TRl g8 Jeal 12 SbE o ST B4 ST ?
10 10

(A) 95/0 (B) 82/0
10 lO

(€) 8§A> (D) 93/0

TR AT o Tohdd JaTd 08 hig G-RART 12 a9t § SA[HT &1 STei?
10 10

(A) 9§A> (B) 82/0
10 10

(€) 85/0 (D) 93/0

SPACE FOR ROUGH WORK
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28. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
() 1:9 (D) 6:9

28. 7! 69 GPIFE ST 1 : 3. I8 YOI (FEF TS 27

A) 1:6 (B) 2:9
€ 1:9 (D) 6:9

28. Wb I0eq PN G2 1 : 3. IR (FIFCE TS 2T

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
28. @A A FEEHR TS 1 3. fomr il asmmE

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
28. < gl i Brsnsti 1 Sgud 1 : 3 B 1 3Tk SEthell 1 IguTd 2

(A) 1:6 (B) 2:9

(C) 1:9 (D) 6:9

29. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600

29. 1009 100% F 97S 200 F 200% 9] FECE FeFe 29
(A) 300 (B) 400
(C) 500 (D) 600

29. 100-93 100%-99 A 200-97 200% 9] FACET FoFe 2
(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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29. 100f1 100% 31T 2001 200% @ T=T=sc AT
(A) 300 (B) 400
(C) 500 (D) 600
29. 200 % 200% H 100 T 100% Sie4 9 qROmE T8 8
(A) 300 (B) 400
(C) 500 (D) 600
30. If a+b=8, b+c=20 and a+c =18, then the value of a?+b? is
A) 34 (B) 43
(C) 46 (D) 64
30. I a+b =8, b+c =20 T<F a+c=18, (B a’+ b2 I I 2’7

30.

30.

30.

(A) 34 B) 43
(C) 46 (D) 64

W a+ b =8, b+c=20 93 a+c=18 3 9@ a2 + b2-4q T 3d
(A) 34 (B) 43
(C) 46 (D) 64

S a+ b =8, b+c=20 IR a+c =18, 37 a? + b2 1 A
(A) 34 (B) 43
(C) 46 (D) 64

It a+b =8, b+c=203ﬁ'(a+c=18,ﬁa2+b23h‘l‘=lﬂ%
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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31. If 2* =32, then the value of x is
(A) 4 (B) 5
(C) 6 (D) 7

31. Iw 2% =32, (SB x I TN 2F
(A) 4 (B) 5
(C) 6 (D) 7

31. M 2% = 32 7, T@ x-«&F A 24
A) 4 (B) 5
(C) 6 (D) 7

31. §f 2% =32, 3= x T 7

(A) 4 (B) S
(€) 6 (D) 7

31. #fe 2% =32, @l x H AF B
(A) 4 (B) 5
(C) 6 (D) 7

32. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

32. 50 TS S RAA @N9RFE 95 (A[1 91°F | FRICI2H[ SAG2OCF Tl A (72
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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32. 5 i S TR @9 95 “NeAl (9 | TSR T ITeAs 2
(A) 17 (B) 21
(C) 23 (D) 19
32. HRA AF 5 o9 U IFANHGRA ST 95. FAFgs oA SHEET e
(A) 17 (B) 21
(C) 23 (D) 19
32. 5 FHANG fIud G H1 AN 95 TR ATl B | T L G B
A) 17 (B) 21
(C) 23 (D) 19
33. If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
(C) 4 (D) 6
33. I wIf{F W47 34p5 Gl 9 F ey 24, (93 pd I 27
(A) 8 (B) 7
(C) 4 (D) 6
33. I wifis W47 34p5 b 9 7= [Ferey 27, 2 p-«3 W+ 33

(A) 8 (B) 7

(€) 4 (D) 6

SPACE FOR ROUGH WORK
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33.

33.

Sfe guifies s 34p5 @ 9 i YA, 3Fsel p i A
(A) 8 (B) 7
(C) 4 (D) 6

Ife TeWeld §&T 34p5, 9 @ T B, @ p I AW B
A) 8 (B) 7
(C) 4 (D) 6

34.

34.

34.

34.

The maximum area of the circle that can be drawn within a square of side 4 cm is
(A) 412 cm? (B) 4n cm?

L 2 T 2 2
(C) —cm (D) —cm

4 4

4 . . I27 I9(CFq GO fooqe SIfF *[1 I8 GO A CFaFa 23

(A) 4n? 3o . . (B) 4r 3o . .

©) %a%f . f. o) Fof (5. i,
4

4 1. . qEfRfE i I6fcFeas foo Siwce |1 Jeed ET® CFawel 204

(A) 4n? <sf &1. . (B) 4n 3sf 1. fil.

©) %aer . i D) ™ <o or. f
4

4 9. . @ T ity faema A g sEa fm wrferE
(A) 4n? =t @, i (B) 4n = 9. fir.

© Tt D) ’faﬁa. fr.

SPACE FOR ROUGH WORK
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34.

4 Ho o MR & TH a1 o i T 1 ol AT I 1 TR &% ©
(A) 4n? =t Fo o (B) 4m =t "o o

(C) %aﬁﬁo o (D) ’faﬁ@o o

35.

35.

35.

35.

35.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday

(C) Sunday (D) Monday

T o1& T 2, (oc 92 e I9 frelchl 2°7
(A) e (B) W&R

(C) dRa™ (D) CTR™

I S AR =, ©zeE 92 el #[cdd el 2@
(A) =FRE (B) &I

(C) == (D) CTEER

Sfe faaf o Foem, steet 92 AHF 3@ AT 9F SRTH?
(A) wfHeR (B) e
(C) s (D) ¥HER

Ffe 37 Woar &, a 92 et & &e &1 fe g
(A) HER (B) yhar
(C) ear (D) WHaR

SPACE FOR ROUGH WORK
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36. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

37. Which of the following punctuation marks is called ‘hyphen’?

38. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

39. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

40. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) I went to go home now.
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41. Choose the correct option :
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

42. Which pronoun is used for ‘non-living thing’ ?
A) I
(B) We
(C) Us
(D) It

43. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

44. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

45. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

SLRC-2024/P-111/ 1-B 35 [ P.T.O.



46. What is the synonym of ‘furious’
(A) Laughter

(B) Witch
(C) Impure
(D) Angry

47. lIdentify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

48. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

49. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

50. Fill in the blank :
Lokesh can jump very ____ .
(A) high
(B) higher
(C) highest
(D) tall
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51. What is the collective noun for ‘ish’?

(A) Swarm
(B) Pack
(C) School
(D) Herd

52. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor

53. Which of the following punctuation marks is called ‘apostrophe’?

54. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

55. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake
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56. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

57. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

58. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You

59. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

60. Identify the correctly spelt word.

(A) Mongrel
(B) Marval
(C) Martal
(D) Middel
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61. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

62. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

63. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

64. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

65. What would be the antonym of ‘friend’?

(A) Foe

(B) Unfriend
(C) Dislike
(D) Buddy
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66. From the list below, identify the synonym of lament’.

(A) Sad
(B) Mourn
(C) Copied

(D) Molecule

67. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

68. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

69. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

70. Fill in the blank :
Tuhin ran __ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting
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71.

71.

71.

71.

71.

Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range

(C) Satpura Range (D) Aravalli Range

T (I R Teg-7q See S[we ?

(A) 92T ot (B) P=ifere orfosien
(C) Tre?ql 7T (D) SRR 2RSTE

eog R TMefE T (@ Tegd SRS SRiEe 2

(A) RIS o (B) Prifers oo
(C) Ao~ Rt (D) SRRfE “Hecat
TR o ETSIHT AT HT-HHST YA &7

(A) A TS IR (B) feranferer i «nit
(C) wag BISIHT AT (D) TR g @i

frafafad & @ F9-4t vda @ @R 9 | 37
(A) =R Zoft (B) fmarfres aoft
(C) wager Suft (D) 3Taett gdd Soft

72.

72.

Which of the following statements is incorrect?

(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

~ SN

feRfeRe (@eICoT Tfe srag 2
(A) FF@E SIeq Q9= (PR HBTS qrey |

(B) WEal*l SReq @2+ (FTF *He ey |

(C) SR =< fCPIAa B1ol7)g ©Req g (IR =T Trey |

(D) “[SCh]I ©Iqeq G4 (FI *FTe Jrey |
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=N o N S

72. e @I [Rghefb sram 2

(A) FFFIR% SRCST L (FEHPTS 26 |

(B) WeTalY SIRCeq G0 (FEITS SeeT |

(C) SHF € FIFRE B717] SIS GFib (FHHOTS S |
(D) “[Mof SrHces @3 @FHfTe S |

72. TEEM F9 fagfrm TR T
(A) @IigaT WA T8 s e s
(B) Hreifgar Wit T8 st et TS |
(C) 3T=mH 3 fies sr fgwmemn vyraf 7 fres st TEsi |
(D) qgerien wraf T st s T

72. Tfafaa & @ ®F-91 %eF Tad 27
(A) &Y WA T Th hEenia T B
(B) ATCTE WA %1 Teh hagliad JesT 2 |
(C) ieHH IR FRITR FITaHg TN 1 T hgaled Je9 2
(D) GG WA =1 U hEriird e 2 |

73. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which

continent?
(A) Asia (B) Australia
(C) South America (D) Africa

73. (LA TRIOHIE TCEC R, TFAGFIG ([q4 SF FPoIG (<1 #[19 ¢ CI0 2
(A) «fe (B) wcgfer
(C) wFa SICRl (D) =N

73. R, TGS (@9 G3R FIOGIE (@Y (Pl T=ACCR T4 M oG FCACR ?
(A) @ (B) SCGm
(C) wFFa SICRl (D) <=
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73.

73.

forga g, weR Bl TR ke BEIST 91 EIERHTSI SIS ?
(A) e (B) 3o
(C) @ret st (D) i
R, TR iR AT R e & ae e §7

(A) T (B) wefer
(C) afeqor iR (D) 3THIehT

74.

74.

74.

74.

74.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

RS @R ST ISET G2 R7RIST 2

(A) TWISTRE (B) (IR =2
(C) = (D) TS
o (TG TRE JSAET G0 BHG 2

(A) TWITRE (B) FNfF B
(C) e (D) TN
e J99T AT FoTe TeTH T8 f57 esi?

(A) HIGTTTESRT (B) *adt fgu
(C) Tram (D) Tt
frefafad & @ &F-91 9g% T5T WG &l T 519 T59 27

(A) TSTTRARL (B) ¥ g
(C) == (D) ete
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75.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano
(C) tornado (D) tsunami
75. DT SO “[1 R A W Ao [MewReR wikaes fsfe @[ ARG (@E 2
(A) T o (B) @zt
(©) Sefeet (D)
75. SIS $OTS (AT WIFTAE [T S Tl @R o fsfo 2eq1cs e
(A) T omae (B) wcsrifeif
(©) gty (D)
75. Mt TRAEE T § g R % TR g8
(8) fog g (B) st
(C) e (D) B
75. & o W gol § T g 3R AT % 3TEe |ed i el Sl ¢
(A) T (B) Sy
(C) T (D) g
76. Which of the following is not a component of the Constitution of India?

76.

76.

(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre

(C) The Fundamental Rights

(D) The Fundamental Duties

RIS (FA Sed AR SH Ml 7= 2
(A) E e o T

(B) (¥ Fltv e e[

(C) (N =P

(D) CNfere T

TR (@D SReF MR TomIe 77 2
(A) MG ~ARDERE WeEs T

(B) FcEF Mo wfieE

(C) CMfers S

(D) Cfers Ty
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76.

76.

TR s=a YRa afsfse s TeT?

(A) @I Tl AreeTe

(B) Toreanfy farenmm wmemg

(C) TfeAT Horg

(D) et ST 2

frafafaa @ & F9-a1 27w yra & afaum & T8 27
A) =T % Hifg-FEve frgia

(B) % & feweh TR

(C) Hifersh Aferepr

(D) Hifetsh e

77.

77.

77.

77.

77.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
T B9 G o (T 27

(A) TRl (B) RIS

(C) = Jureife (D) Jurgifs

(A) frveTer-"RIfe (B) SHIfe

(C) e Y@rife (D) @R

oTE R TS ST STeTeTT AR g8t

(A) TITHRATH (B) fewrm

(C) BTEIRERATH (D) FHRIE

T TR # TR gfg 1 w1 ar &

(A) TTRATH (B) fewrem

(C) ETEEFATH (D) FWATH
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78. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. JEBR &AW G WA (DAY-NRLM)® DAY & I& 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. TTOR &Nl G 9 (DAY-NRLM)-9 DAY oo Fi @RI 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

78. TN & ARWiiIgs fHRE (DAY-NRLM )3TE DAYST HT ST ?
(A) feafeae safafafefa amr (District Availability Yojana)
(B) €HedTel 31=ded AisHT (Deendayal Antyodaya Yojana)
(C) &I @Tﬂ%ﬁ% AT (Deendayal Ayurvedic Yojana)
(D) feufege wfawm= AsMT (District Achievement Yojana)

78. TEH Ui sTshifeert fHeM [National Rural Livelihood Mission (DAY-NRLM)] § DAY
1 a1 27

(A) 5o 3uetsadr FSAT (District Availability Yojana)
(B) dHATA NG AT (Deendayal Antyodaya Yojana)
(C) e 3T|'35ﬁ55 pIEEI (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEC (District Achievement Yojana)

79. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori
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79.

79.

79.

79.

RS @@ Toey™ omE 9238 (SAICS I61 FECZ 2

(A) For&F (B) P 19 (2919 ST
(C) FsfferT 22 (D) AT &St

TR I TP oMl [3R (OFR BT A 2

A) Joex (B) S7IN@ I1F (ZFIET TINT
(C) Ffferg 2if2 (D) AT Gra

MR ¢ gt 71 w2rsft & auet foremm?

(A) Feg=rT (B) 37HIHd SR &4l HIHT
(C) Tl ife (D) faft forert

Fafafga 9 9 H-91 Su=ma geresht T aun grn forat mn?
(A) TegorT (B) ST TR &% HT
(C) TIEfer &gt (D) £ ot

80.

80.

Which of the following is not a Central Armed Police Force of India?

(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

[ =Y

RIS (P SRS (R TR R IR 7=T 2
(A) SEER T TRl (ICG)
(B) “1F 1 791 (SSB)

(C) JBR 3T a6 (NSG)
(D) &R Smife farerfzal (CISF)
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80. SICod (PG CRCeH (FTR 37E “Jfor=ifeal =1 2
(A) SRR T7ge Rl (ICG)
(B) [F ST 791 (SSB)
(C) B I o6 (NSG)
(D) &I Smife fererfzal (CISF)

80. TEMM &1 YRaH e SR W@ty g F=?
(A) zf<am w8 mE (ICG)
(B) @& fomr s/t (SSB)
(C) FvHa fafesfife mE (NSG)
(D) ¥ gerfesder fufrshife v (CISF)

80. fm=faflad & & F9-w1 wRa &1 Heiw wwE Meft o & 37
(A) WA deterss a9 (ICG)
(B) 43t M1 97 (SSB)
(C) Ug gram me (NSG)
(D) s 3frenfies guan 5@ (CISF)

81. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

81. F°[[ IPEMS AF® fF 2
(A) Ag (B) Si
(C) Sv (D) Au

81. TF IMRF 2SIF F 2
(A) Ag (B) Si
(C) Sv (D) Au
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81. ¥ T fefraferm wr?
(A) Ag (B) Si
(C) Sv (D) Au
81. wIdl = TEEF g 1 87
(A) Ag (B) Si
(C) Sv (D) Au
82. Who is the President of the USA, as on 1st of January, 2024?

(A) Barack Obama

(B) Donald Trump

(C) Joe Biden (D) Rishi Sunak
82. 1 WCIHl, 2024 AMCCTH SCARD ISH1gT F7f T 2
(A) TR I (B) (ST G~
(C) & aBCe (D) AR 15
82. 1 WA, 2024 CoCF Tiie] Te<E A18°IfS (P 2
(A) TR S (B) CTIT G
(C) C=l AT (D) 4R 7
82. 2024 AEUEH 1 STgATR GfcIem STHIER STUTE BTe gERATET 9r?
(A) SRR 3TEHT (B) &Tes T
(C) ™ smged (D) Teeft g7r
82. 1 SHal, 2024 1 T AT STHIEHT 1 TFUfd ®HH 27
(A) S AT (B) SMTeE 28
(O REIREES (D) W g
83. Which of the following is considered as the powerhouse of an animal cell?

83.

(A) Nucleus
(C) Ribosome

(B) Golgi apparatus
(D) Mitochondria

fafee @@ A @R *ifes Sqe weel [Reava w1 =02
(B) aI’#1% ke
(D) w25 g

(A) &FF FF
(C) I™'&T
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83.

83.

83.

T @FEHE A (@I *feq BT 2o [eawen w41 272
(A) ferefFam (B) oI I
(C) RS (D) TRCHIFIG
R seE e Sl amm M aifig g8 fufmm sme
A) Fefa e (B) TaAfST Tigw
(C) TEa'sH (D) T3 iz
frferfaa & @ R ayy FIT3TRT 1 ITeRETSH WHT ST 37

(A) THsh (B) Tiestt @
(C) Tgardm (D) TSI~

84.

84.

84.

84.

84.

Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
e (e orre SeRE Tergel R ?

(A) B (B) SIRFalfeRsr
(C) T (D) 2

TR @ ofba TTeh 1R 2

(&) B (B) SIS
(C) TRIFTE (D) 2=

RINRIE I E R G AR I 21 6

(A) =M (B) STHII-EH
(C) =ER (D) st
frferfiaa & & g 3w & wEae W 27

(a) == (B) SImITd
(C) wImR (D) A
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85.

85.

85.

85.

85.

The world’s largest island Greenland is a part of which of the following countries?

(A) Denmark
(C) Canada
2T JZeN A7, T L P SR 2

(A) (T
(C) el

R0oea 32 &7l [BenS (FIM (R =1 2

(A) (T
(C) Il
Jeuf wfem fow fimerer 9o geRf swEmm?
(A) STTH

(C) =hHTST

(B) Sweden
(D) Iceland

(B) DT
(D) SI25CEe

(B) 2T
(D) SIS

(B) gz
(D) 3TTEEc<

forea =1 g9@ w21 €U, Hicts, e <91 @1 'Y

(A) STHTH
(C) TSN

(B) %ieA
(D) ATEEIS

86.

86.

86.

86.

86.

What was the last capital of Ahom Kingdom?

(A) Charaideo

(C) Rangpur

CZ AT CRICH! qreeiell 6 ifest 2
(A) BRCTe

(C) [

2 ASCHA 1 AGA (@FAD f2e 2
(A) BaRCTE

(C) R

JTEH TESIA ST TSIATe = S ?
(A) =

(©) T

ITEm w3t TStar wa-w ofi?
(A) =3

(C) T

(B) Jorhat
(D) Garhgaon

(B) @26
(D) orwsiie

(B) =2
(D) sresile

(B) e
(D) e

(B) S

(D) e
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87.

What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita

(B) Jakoimoti

(C) Kherxuti (D) Soirindhri
87. T XTI Jo! WOl A & wifee 2

(A) wETre wRel (B) wswel

(C) 7Sl (D) Cife
87. T *RFACIA ProrE T i fee 2

(A) =IRwe wize (B) wItFTe!

(C) =TSl (D) Cifs
87. ffm=a vieRaaty faelfy ge1 AmE?

(A) 3TEIEE STTET (B) STehmfd

(©) e (D) Hfeeh
87. *fivd Yiepted ol It 1 A AT 917

(A) @TEe3 TRl (B) STehrgATdl

(C) wgdt (D) &feh
88. Who was known as the ‘Lion of Mysore’?

88.

88.

88.

88.

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR (I STeTS wifee ?

(A) =TiweT %=
(C) S TWIE

@ TR iR’ e Ao freer 2

(A) =Tfwet =2
(C) FST&N S

R ‘mrgert oy’ g fHfesmme?

INBELESRIIH
(C) FORST IR

TEL % R o T Y TR ST S en?

INBELES R
(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 23wq wifer
(D) 157 pererm

(B) 2RWIEH
(D) b7 eTom

(B) ®IEaL ATelt
(D) fag gear

(B) TR 31t
(D) &g God
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89. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
89. TROIRT (FI(HI ACTS HICRFRARRIS Fe 2

(A) “lgR (B) =@

(C) IreE= (D) Ted AW
89. GIfRINS 19l SRCSH (e AN SRS ?

(A) “NGR (B) =@

(C) &=« (D) Teq 2w
89. WA ST YRAN o TSSI3TE &7

(A) TS (B) =M

(C) TSI (D) 3T Yo
89. SfcTaTedT ST WRA o form T=g o fedq 27

INIREIE] (B) wimom

(C) TSI (D) 3T T

90. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
90. faSr fPugmd TS RIS @R o™ oFF Collba SIevI SIfRe] ?

(A) ZeTe (B) w74

(C) =™ (D) CRIfeED ZTfere
90. TCHa (I ¢ (ML oR Reegeas T SEeefes o e 2

(A) 2TTS (B) Il

(C) F™ (D) CTferRre Feq
90. A Y eI FHE MERTE S de 860 Tfrad BT STeFTH ¢

() st (B) STIH

(C) ®r= (D) @i 33fem
90. FHfRad & & wH-|1 <1 fadi fovags & A gi |z =1 e o’

(A) ¥ (B) S

(C) wE (D) Gifoa a9
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91. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia

(C) Vietnam (D) Cambodia

91. &Y 69 AT (IO (714 2
(A) fEfecere (B) TSR
(C) fecapam (D) eI

91. HICH-EF FITAC (Fle| 0 CZ ?

(a) frefeene (B) ZcwaRrE
(C) feTaee (D) cFIfe

91. 3 I1d[H FEEET SRS §d 8ol &7
(A) Fefoei= (B) 3= =
(C) T (D) o feam

91. 3THR I1C % Weel fore <31 § 87
() =Isieis (B) SSHRwEN
(C) ferraamm (D) haifen

92. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh
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92, RIS (FMER (™R PO SPIC SBEeF BRI oK ¢ ?
(A) SO I B
(B) B =< AT
(C) SRECH] S PHIT
(D) IR S FILETCH]

92. T @ (el SPIHT BT AT 2
(A) TOF € B
(B) B € e

(C) ETT € THI

(D) SRR 8 I

92. M o6l TRRS SRS FAT THaTmi ¢
(A) qTH 3 =
(B) = AR sTetres
(C) STeeRT ST YaH
(D) TIFHR 3T STereel

92. 3gH frafafea & @ o5 <9 & wyr ARl dim aren e 27
(A) e 3 =
(B) < 3T amettes
(C) STTeRT 3R YeH
(D) IR 3R IEARH

93. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

SLRC-2024/P-111/ 1-B 55 [ P.T.O.



93. I Gy KA BARI 271 SO CoNea olie] TR =2 =Neg, o [ @t fmiest TR
MR ?

(A) wFReR #[1 “qCa
(B) =< *[1 “ABwCaT
(C) P53 #I]1 7[Cat

(D) TES #1 7[Ce

93. I b [T (vaf2 (e BARBR e TP Tee AR, O3 @i (@FweE Tuce ?
(A) wfEFel (e o= e
(B) & e Ao
(C) o (AT o e
(D) Tes (AT M

93. T for@ =1 Jfe JARMHEE AR oS oA Hal, 3Tscr o= 71 fama foxai?
(A) EIATHER AT
(B) WSS FHTEI
(C) TFTEHER TS
(D) WIS HST

93. e i gaé SErel == ¥ WY AR I AR IS W @ B, Al 98 fHu fewn # sgm W @ Y
(A) 3fer € gd Al AR
(B) 99 ¥ ufvem &l 3R
(C) ufvam & gd i 3R
(D) 3T H 4 I AR

94. What is the Westernmost State of India?
(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
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94. T[T IGIZOLF TS AF ST (I ?
(A) <&z
(C) =g

94, TS “IF5TeT Ay (FD ?
(A) T
(C) w==1E

94, VAN GHTE S TSI a7
(A) TSTEAEH

(C) HEE

94. VId I G Uiyl T hiH-91 87
(A) TSR

(C) HEE

(B) 7GR
(D) @6

(B) “N&GR
(D) @&

(B) 9t~

(D) TS

(B) USIE

(D) TS

95. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna

(C) Anamudi

95. fFfIR® (IO 29l feera w@sfe 7= 2
(A) e
(C) wrf

95. TCox (I oL R S@af© 73 2
(A) e
(C) =W

SLRC—2024/P-111/ 1-B

(B) Kangto

(D) Kamet

(B) IO

(D) <FlcT®

(B) IO
(D) I

57

[ P.T.O.



95.

95.

et 59 et ety =

(A) s (B) id’
(C) ewmfe (D) iz
forferfiga & & F-th 92 e @ wafoa T 27

(A) g (B) il
(C) et (D) e

96.

96.

96.

96.

96.

The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia

(C) Africa (D) Europe

I TR TR 9 2R 206 2D S[fEs 2

(A) Teq S (B) rcgforar

(C) IEFl (D) 3T

2R 21 2 (@b WRAE ) (Pl TRIwed Fe6ad! Ten w[iEs 2
(A) Tex SR (B) SICGERT

(C) kR (D) T

U2 JfER e o greraT @nfuf duerE €7

(A) T ATHTERT (B) refern

(C) ithet (D) 33

U2 SR % g werE & fiewe aqz | feod 27

(A) ITE TR (B) aAfeferan

(C) wrhrHt (D) T
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97.

97.

97.

97.

97.

Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
fafeT® (PICH! w36 SERFR @3 o= 2

(8) dfem (B) FRICHRN
(C) E=R (D) <CFolR
TR @D 7w SRR G0 ARG ?

(A) rfre (B) TR
(C) e (D) =®¢F*IT
e T=9T T ARSI T B ?

(A) T (B) HRIHH
(C) Teaw (D) wHehEm™E

Frefafea # @ sH-H gfa smfen & 9ed JEen 87
(A) TEN (B) HRIHIH
(C) 3o (D) I

98.

98.

The giant waves caused by volcanic eruptions or earthquakes under the sea are
known as

(A) tsunami (B) cyclone

(C) blizzard (D) landslide

A SfeTe (@[ SRR Trata si2[l iz 2 741 328 (Bl ([ =
(A) Pl (B) <I-S=ail
(C) wa~Te (D) g
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98. T b SCAPIRE WP A1 $RFC= Tl 7 T2 SRS @l 2

(A) (B) e
(C) TIRRT (D) P
98. Al faeTa 1 i@l SIS TS SRHTEARIST HH{SHTT et qrarbra! ESH
(A) g (B) TRHIETE
(C) T gt (D) =1 FrfmEmm
98. W5 % 19 SaragE foEe =1 T % w0 I faerer at R kel Q@
(A) ATt (B) =Ishard
(C) SHHT q®H (D) FETH

99. Who is the Chairman of the Rajya Sabha?
(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President

99, JEPTSH TLF (Flel 27 2
(A) 2qeTE) (B) Toagefe
(C) GTTSR e (D) Fg7fe

99. AGPTSR ST (F 2
(A) 2T (B) ToRigeIfe
(C) CEIRPTOR Sy (D) =ZfS

99, TS T STTHIEATET Tr?

(A) TTETE HAR (B) TIeT3 BRRATR
(C) g el glufii (D) TTERATR
99, TSI HHT 1 EFET BT Bl 87
INB:EERE (B) Swrgafd
(C) ARET HAH (D) Tgafa
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100.

100.

100.

100.

100.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court
(D) The Speaker of the Lok Sabha

SIeq AT (FIC 7S #[15 IR ?
(A) ureTE

(B) Twstl Tob HRICRE 25 TR

(C) TooeH T 25 A

(D) EIRPTOR S

(F SACA AFYNSCS 7= 710 FA ?
(A) @y

(B) fralt T IR 2 f{1Relfe
(C) TN TR 2y [Kvmeife

(D) CEIRPTOR S

TRaf RRMRA foam arEfard 9 armE?
(A) TITETs 7

(B) feght M fafsrenfafs e fommam

(C) i ffsrenfaf memw e

(D) g et gfafii

AT % TEUTd ol 42 hl 199 shiA feetrn 27
(A) TaH Tt

(B) fagt 3= =mamer & g =mnefa

(C) HaTr= =T & &I =R

(D) <IRET 3TeqE

101.

Which of the following musical instruments of Assam is usually made of bamboo?

(A) Doba (B) Mridanga
(C) Dotara (D) Toka
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101. ffIe SPIE qME@RRA (sl AEEIcS ecd e 2

A) 7l (B) w24l

(C) CTreal (D) B
101. b THfIe =PI (@ ITED SRS 4 e Cofd 23 2

(A) ©[ (B) =

(C) crrerat (D) Il
101. TEET BHE AEMH o« SHSE! SNaTSi SHE 7

(A) @ (B) e

(C) < (D) et
101. F=fcfigd & 9 3/ o1 SiF-91 Giiid IEEs MR TG 9 o= g1 27

(A) = (B) e

(C) T (D) 2
102. Where is the Tocklai Tea Research Centre located?

(A) Jorhat (B) Lakhimpur

(C) Tinsukia (D) Dhemaji
102. (GRFeI3 B2 SICEREl (T TS S-FS 2

() car=ib (B) =73

(C) Tofepdr (D) (IS
102. (GIFeT3 B 91C3TN (% (IR SRS 2

(A) =2 (B) wRE~

(C) Toprm (D) CxIfS
102. THATE HIET AT HEAT o&T19 € ¢

(A) e (B) @efAg

(C) fargfeprn (D) &mfst
102. 2hcllé =T AU Frs el Ed 27

(A) SErR (B) T

(C) fagferan (D) et
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103. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh

103. (oM™ S+ SRR 9Ol (olb AT (27, (P qTS ShTS 2

(A) Teqre (B) fesmet aiem

(C) T21g (D) Teq dom
103. el (2, (oM™ o3« FRGER G0 ©lol, (Fe TS AT ?

A) TeAEy (B) f2smet 2icws

(C) T21g (D) Teq 2o
103. Tifs o " 7 7eg wieal 1ar Y6t e TS €0

(A) @ (B) femmret yam

(C) AEmg (D) 3 Y=

103. Tfar ¥y, Mide Yo FEias H Uk 3, fhe T 1 oo 77
(A) STHES (B) femmrar yam
(C) wEmg (D) 3T 9

104. An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour
(C) Zero Hour (D) Party Hour
104. SHOR AWM (IFC G5l e TS el seia wifkzee o0 /fwg s Swree <9 A
9 SR AT GEB] TS [ el (R = 2
(A) = T (B) SeECeIS e
(C) T e (D) welR et

104. (AT G5 WeeT S senipletel @hfb e 95m 74 2h/ Remefe S| somwm o w@elfe

(A) FE= (B) NIZCSISCTA F1T
(C) [T <TeT (D) welale el
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104.

104.

RAM d9ed gFaf SYF SRl 99 Seoll SEfasmn |ify/smerdr fm iR
Torar BN, o e | g

(A) 3eite T| (B) AFSNGH 3TER &

(C) wfera’ &\ (D) BT &H

IR w6 § el vk o7 o &= § forn Forelt 9@ g % T/ 391U ST U Aol 39 T e
% HET ST 2

(A) TG A (B) HEATE-HISH el

(C) A 1A (D) S i

105.

105.

105.

Who is the Chairman of NITI Aayog?

(A) The Finance Minister

(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

TS (NITI) SR ST (Fl 2
(a) fre @

(B) zra

(C) SRR e @F9 s[aefq
(D) Trmigefe

NS (NITI) S TGF (F 2

(A) e =@

(B) e

(C) SHeR fare Wieas e
(D) TomIgef
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105. ifa (NITI) =T sTebrefieEn |e?

(A) T =y

(B) TIETE WY

(C) wrafy feed siepfy MR

(D) ©$TE TRERATR
105. Hifd (NITI) 31T 1 31e9e] i 87

(A) foa wht

(B) v Tt

(C) W fisrd Sk 1 ML

(D) 3wt
106. The Numaligarh Refinery is in which district of Assam?

(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh
106. NGNS LIS SPTNS (Pl fereiie wefes 2

(A) P (B) 92b

(C) CaeTraID (D) fegsre
106. AT ISR SPICHE (I (SR ST 2

(A) PReTISE (B) @==16

(C) coreT=G (D) fegore
106. AWM JACHTE o1d HiEm@iern 9d MNam=mE g7

A) TEEmR (B) SRed

(C) et (D) fegms
106. JATCTE b 3tem = form foret # feora 27

(A) RrEEmR (B) SIRETE

(C) e (D) fegm
107. The international festival Kullu Dussehra’ is celebrated in which State?

(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana
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107. SIFESF TLTE Fg M1 (Pl TS Alefel T 27 2
(A) T2 oo (B) Teaids
(C) Tex o (D) =R

107. (@S THE “Fa TRl (P A0 o7 27 2

(A) feameT 2w (B) Tware

(C) Teq ziom (D) =
107. TSR BRAT Fg SR @l a6 TS BT ST ?

(A) Tedre gem (B) I

(C) W Jem (D) e

107. SREHE ER Fg U [hE TsT H A STl 7
(A) Temrea wewm (B) IWI@S
(C) W Y= (D) ®femom

108. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia
(C) South Africa and Madagascar (D) Japan and China

108. (A< 29N (P 01 PUEF F2F S 2
(A) SICEfm e efeers (B) SR TG S MR
(C) wRFa SIF SMIE TWISTZIS (D) A A DI

108. (AR AEl (P 4B FoTelaid 72 e ?
(A) =g ¢ fefeEe (B) i1 g&=1g @ A
(C) wfHFa S 8 IWISRE (D) ST 8 Biw

108. SR TT-GuIreT o6 WA E-WiSral srarE?
(A) i smi fefor= (B) 330 THo o TR AT
(C) e 3Rt TR HETTTEHT (D) UM AW =4
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108. <faT Sterafar fofd a1 -wmm ot 3Ter Rt 27
(A) sTiefern iR =ficie (B) GYh T TG 31K &4
(C) <feaur ThiehT 3T HSTTER (D) UM R =+
109. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar
109. *5PIE (FECT (O ST’ Ao AfePE (Pl 2
(A) O TFa (B) Ty Bl
(C) & I (D) CCan! “Mea
109. *FIS (PRI NS SeTwler1” il (P feTecs 2
(A) o fFha (B) “faag S
(C) & I (D) - CCan! “Teq
109. IS HieR GHME Al v gfifen ar?
(A) T T (B) HIf=e o
(C) ST s&al (D) ToRft 1eX
109. IFAS FHiER gRI M T Tl a forae ford?
(A) T TREa (B) e g
(C) S =& (D) TRt uTeR
110. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
110. SPRIEES (@I FIRA! (&4 9¢ 2SI AT 1 <5 2

(A) T | (B) “@ FI= (ol
(C) @ (23 (D) [ bF (TP
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110. SR (MG SRR (@146 g AR 2 71 2
(A) TR F[I (B) “@ = (TPl
(C) 2AE (23 (D) F 57 F&IHI
110. %A fyer fomn = 7 fewr o) g1 w17
(A) I & (B) dfer FHR Il
(C) f&xa et (D) P& =5 B ehl
110. A YR crEe 1Y Sl i T8e W ©
(A) "I S (B) Ul AR S
(C) fexa merd (D) FHE T3 TR
111. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta
111, “TeME 2878 w2me NS g offR<e (Fiea ferfies 2
(A) TS I (B) 2 ©TIOI
(C) Swe =2 (D) =@ FAQ 7S
111, (RGOA ~BF NBHE 2273 T2 F[ @191 ?
(A) TR = (B) 2Aca SHHR
(C) Sam <R (D) STl FHE 7@
111. T 9TRRA foea - g5-%d 9RIgE @l 9r forai ?

(A) TeRTd ST (B) f& v
(C) oS TEfeha (D) 9 FAR T
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111. S=A1 6l Ik, WMArTs TPy Aegy fohad fordt?

(A) TEFHA FwAT (B) & wzrmd

(C) weg =1 Afsrn (D) 3T&T FUR &
112. Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
112, Flf%5[ES =T (Pl qEre T S = 2

(A) G (B) wIfierre

(C) Fefios (D) CSCERAM
112, Ffes[Ew *1fY (I qMCey Teeive 27 2

(A) AT (B) SIf@mg

(C) F5F (D) (ST
112, FHIf=qe | 96l TesieTd fogHi?

(A) e (B) mfirerrg

(C) wHieH (D) TR
112. S ATt 1 IcdTe foh| Tog # giar 27

(A) (B) dfeTg

(C) Tl (D) T
113. Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon

(C) Bob Marley (D) Marlon Brando
113. fRfERe @R e e bas oifes 2

A) TS5 = o’a (B) & (&

(C) 27 wrest (D) wrcsfi ACel
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113. T & 9o [ere foarE fecem 2
(A) ST e Ao (B) Sl (ST
(C) = e (D) ST ATCel
113. TERETE TFE AR G YarET 9iE AT ¢
(A) T8 9= ™ (B) SH T4
(C) == W (D) WIEH STe’
113. F=fafaa @ @ =9 v ufeg feser ar?
(A) forde & i (B) S o
(C) e ATt (D) e Set
114. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo
114. SpRE SIfREl (YR S TRl BIRZ (@GR (o7 e fsfiiag B 2
(A) &3’ (B) @S0
(C) &V (D) el
114, pfea Oifel (BIYR @ae sTerfel *BE (I (<@ ©eed Afeffag e 2

(A) T T (B) IO

(C) N (D) scel
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114. STEME Q=T NG ST TIA TR YRa SEW a1 e ?

(A) TH = (B) efirea
(C) (D) 9%
114. @n 6t arfen Sted S TaEHT dfn fhe oa 7 vyra & gfafftes #d 27
(A) @ afa (B) defieq
(C) (D) =t

115. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand

(C) Sania Mirza (D) Leander Paes
115. (OB (EReRIFE forire 5 |

(A) T TR (B) ~[Cawl Cantom

(C) w=ifera it (D) f@eR =
115. SO CICETRIECS Hiee 50 |

(A) TN FAFE (B) “[cseT CalFom

(C) ufern faeit (D) fereR (1&
115. defies et feamfy

(A) <1 FHRR (B) geiel =g

(C) @t furst (D) ferre |
115. Ssfied faare #i vg=nfu)

(A) T FHHBR (B) geiall =g

() @t fusit (D) fetget wm

116. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling

116. 2020 5 SI~7[F9 SRCS (PARY (TS (P 7 A1 1 Ao ?
A) IET=m (B) SIS

(C) SRS (D) &=
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116. 2020 GIFe TRFHF SIS (FIe (LR AMF (SO 2
A) = (B) SIS
(C) BRI (D) 3%
116. 2020 AMEATEM 2T fcaftes SERREARETE R 6 ToHTTd Bed TR ?
(A) et (B) fifer Samm
(C) dTEHaTE (D) WHARAH
116. ¥RA 4 2020 21w Acifus ¥ o O § ues T2t Ssffar?
(A) HeRsITsit (B) WRIHeR
(C) dmrhEN (D) Fdt
117. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events
117. IRF 2AfSfae™ *R4e TN ¢ Sl (FERY (P19 PTCo Sivs ?
(A) iCeR (B) efroa
(C) fememfzs (D) G o< fFmq (4at
117. R aferaiiorer e TRNS e @ (4o A IS 2
(A) STerR (B) ITSRIGA
(C) Tt (D) I @R freeeq (e
117. 999 SRR TERAREEE SR P € ot e Teimst et =17
(A) FHfEE (B) ssfired
(C) fomHfes (D) ¥ TR HIUWTE TR ST
117. TEWE o fopd @ § feifiareti &t ue anfie e 27
(A) TR (B) efied
(C) Tommfeeaa (D) & 3R Fiog T
118. Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
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118. SRS Aol &9 @RI oo 5 |

(A) T2 awasf - f&en (B) fEm @9f : 7' (Bfevm

(C) B2 Tug : oF (D) BRI ! « Foae
118. eToICa (FEICA (eI e e |

(A) COGFF qwdqlsf : fFeb (B) fae1 of = o1 GBfemr

(C) TiEeMmE T : o (D) TSP @MICST : Foae
118. TR SEEA™ ST o |

(A) feewT ugamt : fooke (B) = &t : o= 2f4

(C) 2TER 3gH : Teh (D) ffEam’ THIes’ : Fead
118. Td GHIOd SIIg I Tg=THT |

(A) TR TEent : fohehe (B) = @it : atq 2

(C) 2TeR g&H : Meh (D) ferfeeamr TATee! @ Feard
119. Where is the National War Memorial located?

(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar
119. JER & ~oon4 '® w@izs 2

(A) s (B) o frg

(C) D (D) So<
119. BRI TR =RF FIAR S_ES ?

(A) Heora (B) = fra

(C) SIaR (D) =&
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119. A3 IR 99 e o1 €7

(A) TR (B) e fegit

(C) e (D) 3TIaER
119. T Ig TRH wel foa 27

(A) Hm (B) =& fagt

(C) TamT (D) 3TYAR

120. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

120. FFIRS @GR e PN b3S fNee P7=ral sTifFe 2
(A) ST SN il
(B) 2wt SRepael
(C) ey o< B qrerg

(D) ffecher st

120. ICoF (PG e SPT FAIHICHT TR 2P Goo ?
(A) [T S SR
(B) = SNl
(C) gf¥ 7Tt @ g Ao
(D) fEfEore forsr

120. THH TWERH e Sg-am@n MeE /1= amrar 37
(A) T HRa IR =3 T=
(B) TSIl MGl WA
(C) BT-XEI TR BI-TSIT
(D) fafsieet wetios
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120. 3199 ¥R & e sgu fefafad # @ frag gafa =7
(A) HIUTEH AR TSHaeht
(B) Wfge TTfehentor
(C) ofwr stfer@ 3R W Tsa
(D) fefoea fatan
121. Which of the following organizations is not in the business of commercial vehicles?
(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
121. FRfERS @RcEl dfovr e e TEmRE #9e Sive 7=y 2
(A) =Ce 9% o’ (B) Wzwm 9e wZ™
(C) ¥ Woag (D) GI51 T
121. ood (P Ao ifafess TR T I 71 2
(A) FHEH SIS 5 (B) wifewl =T Wifzm@
(C) G W5a (D) Bi5T G
121. TEEM J& FHAMT AR H2k MR 7277
(A) TR TS T (B) #ies U= Afg=
(C) wd Ted (D) e "l
121. F=fIRad # € HF-91 GiTe aIviisash aTeHi & Fad™ § T8t 87
(A) W TE o (B) Hfea1 Urs Afes
(C) W HieH (D) = wied
122. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
122. (I S99 M4 pH T 5-0 2T, OFR 96 i

(A) 4R[SR 2Ffeq (B) zifie zpfeq
(C) o= 4T (D) =N 2Fheq
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122. 46 ©qceE . @35, (pH) 5:0 2o, (13 ©Fe1h

(A) IR erpfen (B) fmcors agfeq

(C) =@ 4T (D) == erpfon
122. Sfc HFH AEAE pHAT 5:0, el o AE@rEl

(A) wRe g (B) =

(C) e umg (D) tfre gl
122. S« et 5 1 flo T=o (pH) AW 5-0 8, @l 98 59 8

(A) Tepfd ® @ (B) Wehfd T deey

(C) Wt =g (D) Wi & vl

123. Who is the Vice President of India, as on 1st of January, 2024?

(A) Gulab Chand Kataria (B) Ram Nath Kovind

(C) Jagdeep Dhankhar (D) Rajnath Singh
123. 1 SFESI, 2024 ACACH SReq TRIEHNS (I ?

(A) SR 5% FOIAT (B) 1Y 2 FIR™

(C) wamiol 44T (D) e PR

123. 1 S, 2024 ACACE SReed THRES (F 2

(A) ColET™ B oI (B) N M (FIR™

(C) wafmel 14T (D) Frerel Pz
123. 2024 "EAEH 1 SRk @rfdfome TRaf oeTs grRRffeEr ar?

(A) TIE =< RN (B) TH 1Y whid<

(C) SHTET &Rt (D) Ty T
123. 1 SHeRl, 2024 & R & ITEHTd i 27

(A) TS =g Tl (B) 9 Y i

(C) SIET e (D) Ty firg

124. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow
(©) Human arm (D) Stapler
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124. FHETS @R 22 AR frorT =m@afs 2
(A) B (B) CJeTl ST
(C) ¥Ia A2 (D) (BT
124. A @D A2 IR frecam omwss 2
(Aa) < (B) coeTIaNfE
(C) T T© (D) HI7RIR
124. TEEM Fe g o 1 foemi fafefr?
(A) @Y (B) et T
(C) TR (D) VUAR
124. fFefafad @ @S- ofiag i wer 1 Ao @ gafed 27
(A) =t (B) et
(C) #H™ g1 (D) WU
125. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan
125. (FF (PF SIOR “[oTe J8] Pgie 90 987 G5l F& HF A ?
(A) e (B) DREINCEIS
(C) SICAEF TS (D) @l
125. (S (0 QIO TSR 31T “DPRCe G5 AWl G SICR 2
(A) = (B) *RHHEIE
(C) WIRh o8 (D) S
125. o9 ERRH e e mef |mere 79 6 87
INBELE] (B) TEoIRat
(C) iR SUTg TR (D) S
125. 50 391 & T o | fTel IR W T e HiE 27
(A) Ssfiet (B) feesiere
(C) HFh T IR (D) ST
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126. Which of the following is considered as the earliest compilation?

(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda
126. RS (@RCGR SBRSCP 7@ Azper Jfel RKeava 41 27 2
(A) TR (B) ‘&dcaw’
(C) ‘Ao (D) STHCw
126. A @FELCE AR 7Fe BT [Ib T 22
(A) FTHET (B) ‘wi=&@w’
(C) “dcaw’ (D) AW
126. AN F9@ st Fifsfe gyrae o fosme gmam gei7?
(A) et (B) ‘wrerdieE’
(C) ‘foae’ (D) ‘wmeE’
126. F=ffad o 4 58 Te@ T8t Hehed THT ST 27
(A) e (B) ‘werdae’
(C) ‘FFaE (D) ‘@mag’

127. Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine
127. R e 29 P S o Terer omEsfs ?

(A) =G (B) Cf<=T

(C) TczcGMICa (D) ArEc&bE
127. ficy Sfafie @ 2 B oo sorom s fee 2

(A) TRfEreTETT (B) i<t

(C) SczcgmICal (D) ArBCerHiR
127. TERMH Je SRR f87¢ gRA demia aermme?

(A) TSI (B) dfera’ s

(C) Hesl ar’ (D) fermfees
127. f=fafed # @ wF-a1 e g o g # fewn on?

(A) TS (B) sl

(C) HrEsies! (D) sfenfa
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128. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
128. J0EE] J7© FARINS @R[ ST wifew 2

(A) oo = (B) ficwmems w™

(C) «o= febaT (D) & APHGT
128. icd SfEfrerm Wk (P SABIRET oo To® R 2

(A) TN @D (B) &R et

(C) @ f2he™ (D) & SHIPHG
128. TERTE BHE WX HHFT dERH STaersi wlesll &7

(A) 9 fer s (B) <R e @

(C) T feear INEEERCIFGE
128. Tretq it wer # Ffafad @ & & i on?

(A) SAIfE ST (B) SR fenrera

(C) TElew feeerk (D) SISt aTfynTe
129. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China

(B) Assam, Bhutan, Arunachal Pradesh

(C) Assam, Bhutan, Sikkim

(D) Assam, Sikkim, Arunachal Pradesh
129. (S999% RS @ Rea e 2@ 2

(A) SPH, $HIF, B

(B) P, O, S 20
(C) =P, oI, o

(D) =P, O, Sreelmet 2o
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129.

129.

129.

o (P b ZICT A (P ?
(A) =PT, BB, I

(B) ST, SO, SREAGE 20

(C) =P, To, Bifes

(D) =PT™, PIfFS, SReelbe] 2o

WFF-aa] e Fel FTEATH FTRAGRA MRS ST ?
(A) T8, A, =

(B) 3TE, YdH, FE0=d Ja91

(C) erram, g, fafam

(D) 31, fafern, srevmeer e

Repe Freferfad & @ frden Seiam 27

(A) 37EH, M, =M

(B) TW, YgH, TEUT=A UG

(C) 3@, vz, fafam

(D) 31&m, faferw, swvmee e

130.

130.

130.

130.

130.

Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater

e (e emam Toa1e A 2
(A) SR (B) I=Yera At
(C) @RS 7“1 (D) TS “na

B @D ARHTS FICw TS 2

(A) PPN (B) 3B ==
(C) =Aifes awia &= (D) TR &
HIRIERCER R NEE = DRIICICEY

(A) REB-T=T (B) 3T@I-BIe
(C) =& o 2 (D) @ &
frafafad § @ F9-w1 e § ameE: TEhE g 87

(A) Temsm (B) <ieer =1 it
(C) &t =at =1 aT (D) Y T Ut
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131. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
131. (P! [m coifeeat « PRt « Rvrer sTena s 2

INIRERICIRCE S LD (B) I~+THR : [ @ @F

(C) FoIF : (14T : fF@rl (D) =15 : (AR« AT

131. (I g il : =g « Rwper-9g S ?
(A)%@:Wﬁ:ﬁ’{ﬁ (B) I(~+ThE : wfawi : %
(C) oI : (14 : 32 (D) =19[% : CHIFIMIF : [T
131. s o5 uf=ie - wer - e S e
(A) TSR : T : foregpe (B) AW : Haw ff :
(C) W : ferfit - forsrma (D) & T : TARR : ST
131. -7 foshey Ut : B : Tk % THE 27
(A) =& : @ - fafene (B) & : AMeFH - o

(C) w9 : ThEs : fohare (D) 7%a : GHMER : |HH

132. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

132. I REAR = 42, TEAR

44 9[¥ DEAR = 28, (908 RS (G @9 oes ?
(A) PEAR = 40 (B) FEAR = 32

BEAR = D) GEAR = 31
C 26 G 3

132. I REAR = 42, TEAR

44 @33 DEAR = 28 2, O3 A (@D Tl (S0l ?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
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132. Jf§ REAR = 42, TEAR = 44 3 DEAR = 28, 37scTl T 9« ST o5t T S1ai ¢
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
132. I REAR = 42, TEAR = 44 3R DEAR = 28, qi fiHfdfad § ¥ ®H-91 82 Toaq ot 9
e T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
133. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?
(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
133. Wi “MC! 79 FR<T AFE Kpmch! ey o
g8 : NS :: el @ 2
(A) SR (B) fFer
(C) oM (D) =/
133. ¢ *Mib *[<C &= Tl [afs e
78 : wiffe :: Bl @ 2
(A) =T (B)
(C) A (D) =™
133. SaT HigEd! 7 G-l g fhar are’ -
G ;A ¢ G ;7
(A) TFET (B) feetmar
(C) =T (D) =
133. 3ifa" 9 I W’ * o7 waam feshen @i
I : ATl R 7
(A) e (B) I&
(C) = (D) ST
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134. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking

(C) Plant : Pesticide (D) Animals : Food
134. g : IR ST TFRYe @RI Hre 7 |

(A) &9 : 89y (B) 4 : I

(C) Tfew : Foar (D) &% : 4
134. g : BIRa9-9q TCol 438 T9(E Gio 1S e |

(A) =9 : 83Y (B) < :

(C) Tfem : FHamF (D) =&t : 4
134. 7Y : RATEMM @ G THT S AR |

(A) AHSHEE : gfd (B) 3TER : TR

(C) gl : TrH! frermam (D) TS - AR
134. <=1 : HE % THE e 9] SIS sl Te= hifery |

(A) g@r : o (B) @HT : eI

(C) e : FieTTh (D) Y : WE

135. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle

135. AR (PICET *¥F 2WS TRACETS <1< S 2
O OEres FTe s 97 (R |

(A) RO (B) eleraret
(C) TR (D) I
135. “IfEH IR (NS o T I7 177 @2 0o Wod (@ ¥ ARFeIE A9 A
T2
(A) FETIP (B) aerErel
(C) TS (D) =
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135. TEEH Jd FEET AME B SIUEE @i S TS T?

o TR WA IS e
(A) frgema (lethal) (B) ®iguE (fatal)
(C) figerqg (deadly) (D) 31 (subtle)

135. fF=fafad @ @ w=-a1 s 9 § Ot @0 9 fhe =gt amm?
frm _ wew @ =af B da @
(A) ®ITa (B) STHetan
(C) = (D) we

136. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4+ Rebel
A 1,2, 3,4 (B) 4,3, 2,1
) 4, 2,3,1 (D) 4,38,.1, 2
136. W< 2RAME WY SFPIR 2We *9PTRa W *RYTI! ¢ 292
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3, 4 B) 4,3, 2,1
€) 4, 2,3, 1 (D) 4,3, 1,2
136. 431> S 32cafe SISy SRl 4ws *w@Ced M T F 2 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1, 2,3, 4 B) 4, 3,2, 1
€ 4,2,3,1 D) 4, 3,1, 2
136. TH ATET ST Alare fgeTd aM™ aRiQd sl $IET /1 ST
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
136. T IS Ie3hITT o TFHR I Teal 1 Tl A FT 27
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
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137. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,
?, 98.
(A) 69 B) 73
(C) 81 (D) 91
137. 27, 30, 37, 50, ?, 98 X2IFCD] Wa(P NG A ToRG FRANCH! oo TP |
(A) 69 B) 73
(C) 81 (D) 91
137. 27, 30, 37, 50, ?, 98 TG AT BTy QTS ToR® A fo=fibe e |
(A) 69 B) 73
(C) 81 (D) 91
137. S &S ATTTETRH! STESTE SHSHERE 9 |
27, 30, 37, 50, ?, 98
(A) 69 B) 73
(C) 81 (D) 91
137. T &I TEl &1 ¥ TR WA o foru 3fa s @ = Al
27, 30, 37, 50, ?, 98
(A) 69 B) 73
(C) 81 (D) 91
138. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?
(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three
(D) Cannot be determined
138. “ERIcy WA I @ OR (eifonis €¢, 57 cEdAee o9 e’ Wi (@ Ed Ofe e |

(SEERRT Tl T xlerie &Fol 33 21 2
(A) 7RI PR (SIfoetd BI%[

(B) @< S Ceiied Twel e

(C) Farer Rl RIS TRICes e

(D) ey 37 afa
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138. @<l e enifed 5@ o1 I Wik wed, 57 e, @ 98k 6@ 5= o7 @i @ AEd
To | OIWE TS| FACH AIChT (I el AR 2
(A) < SR (SReT (e <!
(B) “[E< @I} (SIS @2 THOF
(C) Trel feaecem e e
(D) fefiger a1 T =7
138. Ugd MEE! SAfRgs S SW AR, T UgeitRgs SiiA Raaren ugsi amamen JEw
BT it | forER Shorgell A e e 6 ¢
(A) vgsr sAfafigs TEfmem
(B) ugsll 3 o= wue S
(C) Touramn wumfy e i
(D) T
138. ugdl, SAifd ¥ et B9 1 a1 Bl B, Al 8@r, St ggel § et B, ST @ T ugelt e 21
3T F=mE ok R § frfafad § @ @ et S aekar 27
(A) wgdt e w1 @ sfa @ 31 2
(B) gl 3 sfq Y el a9 2
(C) ferar =i # o=@ et 3
(D) & &l feram S gehat
139. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?
(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
139. FCETET GF SIS AR G SfScTeics SglrRiR $1, (98 (N *M BT GFAG @S
o’ | THET OIS SfSCToreed g 5 5 2772
(a) 4o (B) &=
(C) et (D) T
139. Y35 ICACHA SRRICH, T G Sfece e Bere wea qcerece, Tl SiME i

GG (2 Oy’ | WfSEToR T AR A Fred 7= 2
A) FH (B)
(C) =ify (D) =%
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139. TH FEEAHH THE EEEe Warn wagREe ftmmm gem, e enfa frgasnta
e’ frarert forme | SR fomrStt wetreT 91 g SR
(A) fermma (B) et
(C) formme (D) forrT

139. T hicisl GARIE §, YA 4 Ueh AT 6l AR TN A TC Fal, a8 W T % Thaild o2
oqret 77| ST S AT 61 AHie O b Hey Y
(A) ==t (B) &
(C) WSt (D) &

140. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
140. ORI “MCO! ~[9 FCsT TS Rech! fofioe 59
T : T 2 2 : PRI

(A) T SE (B) TS Fm
(C) I'CF0 (D) (&Sl

140. ORI “mfb <[es & ol Rl gt
qegeel « fISh7 :: 2 : (PIonmafeem

(A) & AERE (B) AT ©oF
(C) AT (D) (TSl

140. oMWY WEEE! AT WIAHA qrefeq fhet g
Eﬁ"TW:T{I,Zq::?:%‘TIﬁ%FH
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) et Tmnfy
140. T 98 &I 9 o foie waw foskhew @ifem
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=RT (B) GI-hiseh omreft
(C) Tehe (D) Yeafifar
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141.

Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) 1II
() 1 (D) IV
141. @we BIR6I 7Ry R F9 -
I. 376 II. 629 III. 921 IvV. 397
2fSCHT FRAT TG THGAS FGCE (DI el IR [ TPeToq 2 2
(A) III (B) 1II
() 1 (D) IV
141. 6 (reql BRMG A Kb e
I. 376 II. 629  III. 921  IV. 397
2IfSfb Yy SR TR eI 20, (I T A FUed B¢ ?
(A) 1II (B) 1I
(O (D) IV
141. BT AFg SESHBRE! TSR 8l
I. 376 II. 629 III. 921  IV. 397
Sfe AFHmEEl AN FAFERE! SidH™ SREE a9, 3l 96 MeH SENEET Safgs
ERIEEASIUIE K
(A) 1II (B) 1II
(C) I (D) IV
141. ¥ & TE 9 gered W foun i
I. 376 II. 629 1. 921  IV. 397
If T TEAT 1 AN A B FAfed foran S, @t sH-dt = an ged Bt 27
(A) 1II (B) 1I
(C) I (D) IV
142. Find the odd one out.

(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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142. e *@7o1 [ol Shernes |
(A) wSDR (B) SITH
(©) < (D) < b4
142. i oo @@ o |
(A) POR (B) I%
(C) @ (D) =R
142. TR AREE! TR G|
(A) F@l (B) 3=3@1
(C) wmemT (D) =R
142. AMHA HI Tg=HT |
(A) T (B) @t
(C) THES (D) HR
143. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?
(A) Aunt (B) Grandmother
(C) Mother (D) Sister
143. 937 FEHIEFS *qo] 2RYce WgerE Tl 3w, — (087 Oreq g (R FPTeR
QG @ | Afela] =T9q (0O (P TN T=AF© 2
(a) ¥ (B) =il
(C) TP (D) =2
143. @ TRe *[e-97 e ro @ e Iem, “OF SRER e sImE Premes I Ee
A’ | AT SR *AR-9F 0 TS 2
(a) I (B) Proma
(C) =T (D) =
143. GEMEE TaEe o g W miferen gem, Cfafy fearf fawmn sl ety e feeren’)
Tiferft A wXAf AEETeT /e
(A) formra (B) forar
(C) fomm (D) fs&’ /femmma
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143.

U TER H IRG h S T A §Y W] A Fal, Ik g oh fual W IS ok Fhalld IF
27| wierft, wra @ T yeR wefia 27

(A) == (B) <r&t
(C) =t (D) &

144.

144.

144.

144.

144.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g% ROBOTICSF OROBITSC f25I(d ¥'T 341 =, (98 PROJECTST ¥'T 29
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

It ROBOTICS-¢3J &S OROBITSC 2, 94 PROJECTS- 1 RFS 24
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS T a1 OROBITSC, 3%l PROJECTS i &a1 SIm=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Ife ROBOTICS #l OROBITSC & &4 # #ifed fomam Srar 8, @@ PROJECTS & & &9 @
ehie form ST, &% @

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

145.

145.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

9Bl ffeEre Ficeq SIQEh! A9 SI9E 77 FICa SiCE | Piked slare| % wEE F10e eeee
S SCR, FCh! ORMT SIaeTq 2IF6% FIceT NCg | A9 SIQeIco! TORES SQea 2[/1 (FIee! e
99 2

(A) wFEReI-27 (B) Teq-Ifoy

(C) wFa-#(f*5x (D) 7R
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145.

145.

145.

(b ORGITR Prrees <1l qces Ao 7F W | Picees 4| 0% wfwed TR SIEe <l Al
oo <wE 2IFx e | oo <151 (At qcTd A1 @I e 2

(A) w5 (B) Tex-2If5y

(C) wfEpel-#ifou (D) 7

Ha JArEtferme fie'f wrsnien S sRei aeeer fw'f weei aemety ged
BHSTR ST ferarf st aametn | arenfs wesien faaf sl ssfe amaer?

(A) EIT-HHSI (B) GI-HHT&If

(C) WreAT-|HTEIY (D) IS

U fafeamr 4 2R 1 s, a9 o fisk & qd 1 3T 21 W o TIsk & 3o Sfeor § e 1 fus
7, S =frar % fooR & ufem 1 R 7| <fiar & TR @ s = fisw fopa faem & 27

(A) sferur-gg (B) IW-4fm

(C) sfegur-ufzm (D) &

146.

146.

146.

146.

146.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

qerige 12 . . yaeq awa 2w 15 ffee 05~/ 939 TSI [N @ore T@l Ff9
o1 2

(A) 64 . fi. afe g (B) 84 . fi. afe g

(C) 48 . fi. afs gb (D) 36 . fi. @fe g6

«3f5 NS e T afers goce 15 FFIG 12 RFeEfivR 1e@w o8y ¢ 2

(A) 64 5. fi. =fS g (B) 84 . fi. afs g

(C) 48 . fil. =fe w45 (D) 36 f. fil. =fe 945

A TSITATHRETE T TR 98 @RS @reten 15 fftea 12 o fifo Miem w@m=?

(A) & ZEmE 64 o fo (B) @ ZrmE 84 fho o

(C) @ 2™ 48 feho fio (D) & 2@ 36 feho fio

15 fife # 12 forciivier T forelt Taed 0 Tg= o foTT T 1 &l Tomm ® fore TR @ =@
=nfeu?

(A) 64 Tho o ufd = (B) 84 feho o ufd =

(C) 48 fho o uf =T (D) 36 feho o Ufd =T
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147. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. 51 N 3QE HSHTS (SO ¥ 7T A 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. S 3CE(S SIS (@] *[A {0 10T AP 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. AWM SOST |G {6geTa 96l | 6 =7

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
147. 9 ST Teghie H -1 e Afam grm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE

148. Identify the correctly spelt word.
(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

148. w7 RS *Co] e F93 |
(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

148. A% IR (D *[1S Fe] |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
148. TR T3 Aererd! iy |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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148.

TE ! ATl M58 I TG |

(A) Moderator (B) Moredator
(C) Modarator (D) Moderetor

149. Which of the following words cannot be made using the letters of MENDICANT?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANTY S[¥<2 <2 Fi4 FRTRS (P51 > 515 < =it 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANT-3 SPFI%fe] 924 ¢ 67 (Fo *A (0. 519+ F1 TR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. MENDICANT ™ @%@l ATERH e sl Aaew@! I g
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
149. Ffafad § ¥ #H-91 758 MENDICANT o 3181 Sl 30N ik &t a1 ST 9ol o ¢
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
150. At the Youth Parliament, certain number of country representatives sit in a linear

row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

A) 19 (B) 21
(C) 32 (D) 17
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150. 95l I FOMS (PRI (9 Al et I9 SR Gebl W[ feer | QBRI qrewcE
(e TRIAIF TS R | GBI ST BN FlTo e qfReR | qReazAS | efeies vodf
TS @R ARCR | (TN 05 AISFICA AR T2 FAC, IHAF (TR H[OR G
CTFR[ I 791 POR FRTe OCR | GeBlfFEl SIF (T qe ([ R qRCE2e oI
GBI &9 (79 TR CTCS A | GRS S[<F IO A[ere TN = (™IC2 12 R | I
APTETS JoCe [Feee o 2ifsfif 3f2 e 2

(A) 19 (B) 21

(C) 32 (D) 17

150. 3 7w, FIE MRYF (R 2AfSHiar ¢ AfRCe 3010 3R FFCE2 WO IR | TG miem
GEIEEE AW W I07 e | [, Q@R A WS T IONR | S, ARCF2C]
T 5ol Bt IO | FMG], (TaChd 0% M0 IR 3R (T TR 53 T 218
(ACF DO | ICHIFTE G (TGS W& (MO IR IR 3R ACBITI ST | SICHE @3-
TR W04y Mg =& (7 AT | I MR (G M6 (7 9077 AR 2

(A) 19 (B) 21
(C) 32 (D) 17

150. 999 AN HECH ARG BElH ATRHRI ARITRRET HiEl SEE 9 i e
wEd et sty wiver’ amfaer fSeE | i ' sfatstsem aeafoeme | e
AN IEIEE atmme e srem STk Sy TS el ST g
TeTiafEE oty wfETe €| v N S SR TS ST B1eT 8, STEtEd TN Uk WA
TSREE! TOETSHI | Tl A SHETSIH Tod Tead gTelhRl fSEEl | T 768 et 9r<wi o
SATEAH HaeE S 87
(A) 19 (B) 21

(C) 32 (D) 17

150. Ja1 T9e § F» ffda wen & S & ufaffy ww dieft afe 9 sed 2 ok weft qufel it 3 de
Fh 93 2 B | TR Y 91 TR Fa 38 ATk 93 T fESh, v i 9 IR et e W
B ST, SEdF % ol A Y T W B | FAET, ST & i 918 AR 937 2, I ST Uk
ifom o BR ¥ R T W | TRIFET R S % S A A g el ofR ueitE &
THM B | S 3R FATET & i hadl B8 o dod & | Fol et foha 31 gar w6 § dad 87

(A) 19 (B) 21
(C) 32 (D) 17
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